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LED4 : %%
LEDS : &
LED6 : 7&
¥—9 | 7TFLR | RES | fa—F %
L1 00 |TI1Y A
01 <4> 4
02 |CAL E
03 SETR 1 LED4 ON
04 |TIA 8
05 [<F> F
06 |CAL E
07 TIMR Cc 24 <—1.6F>
08 |CAL E
09 |TIMR Cc 24 <—1.6F>
OA |CAL E
OB |TIMR C 24 <—1.6F>
0OC |CAL E
oD RSTR 2 LED4 OFF
OE |TI1Y A
OF |<5> 5
10 |CAL E
11 SETR 1 LED5 ON
12 |TIA 8
13 |<9> 9
14 |CAL E
15 TIMR C 24 <—1.0%>
16 |CAL E
17 RSTR 2 LED5 OFF
18 |T1Y A
19 |<6> 6
1A |CAL E
1B |SETR 1 LED6 ON
1C |TIA 8
1D |<F> F
1E |CAL E
1F |TIMR Cc 24 <—1.6F>
20 |CAL E
21 TIMR C 24 <—1. 68>
22 |CAL E
23 TIMR C 24 <—1.6%>
24 |CAL E
25 RSTR 2 LED6 OFF
26 JUMP F JUMP L1
27 |[<o> 0]
28 [<o0> 0]
29
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TS L BLKRE VESE S1TE

LED4 : %% F—AH:0~F

LED5 : &

LED6 :

¥—9 | 7FLX | ;iBiEE | afa—F &5

L1 00 TI1Y A
01 <6> 6
02 CAL E
03 SETR 1 LED6 ON
L2 04 KA 0

05 JUMP F
06 |<0> 0
07 <4> 4 JUWP L2 (F—A QD)
o8 TIA 8
09 |<B> B
OA |CAL E
oB TIMR o] B4 <T—1.2%
OC |CAL E
oD RSTR 2 LED6 OFF
OE |T1Y A
OF [<4> 4
10 CAL E
11 SETR 1 LED4 ON
12 TIA 8
13 |<F> F
14 CAL E
15 TIMR o] 24 <—1.6%
16 CAL E
17 TIMR o] 24 <—1.6%
18 CAL E
19 TIMR o] 24 3—1.6%
1A |CAL E
1B RSTR 2 LED4 OFF
1C |TIA 8
1D |<4> 4
1E |CAL E
1F TIMR o] 424 <—0.5%
20 CAL E
21 SETR 1 LED4 ON
22 CAL E
23 TIMR o] 424 <—0.5%
24 CAL E
25 RSTR 2 LED4 OFF
26 CAL E
27 TIMR o] 424 <—0.5%
28 CAL E
29 SETR 1 LED4 ON
2A |CAL E
2B TIMR o] 424 <—0.5%
2C |CAL E
2D RSTR 2 LED4 OFF
2E |CAL E
2F TIMR o] 424 <—0.5%
30 JUMP F
31 <0> 0]
32 <0> 0 JUMP L1
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LED4 : #%
LED5 : 2
LED6 : 7=
¥~—%Y | 7ELR | @58 | ig3—F %
LO 00 |TI1Y A
01 <4> 4
L1 02 |CAL E
03 |SETR 1 LED4 OR LED6 ON
04 |TIA 8
05 |<9> 9
L2 06 AO 1 HFHRTRT (9~0)
07 CH 2 RERT—HAt—T
08 |TIA 8
09 |<9> 9
OA |CAL E
0B |TIMR c 24 <7—1.0f
0C |CH 2 KRT—HAO—FK
oD |ATA 9
OE [<F> F RRT—ETIVAV
OF |JUMP F
10 |<0> 0
11 <6> 6 JUMP L2
12 |c1vY D
13 |<6> 6
14 JUMP F
15 [<1> 1
16 |<C> C JUMP L3
17 CAL E
18 RSTR 2 LED6 OFF
19 JUMP F
1A |<0> 0]
1B [<0> 0 JUMP LO
L3 1C |CAL E
1D |[RSTR 2 LED4 OFF
1E (T1Y A
1F |<6> 6
20 |JUMP F
21 <0> 0]
22 |<K2> 2 JUMP L1
23
24
25
26
27
28
29
2A
2B
2C
2D
2E
2F






